Isotope Practice Worksheet





   Name____________________________













Period_____

Learning Target: Use isotopic notation to determine: element name/symbol, atomic number, number of electrons, number of neutrons, number of protons, mass number, atomic number, and atomic mass.

1. Here are three isotopes of an element: 
612C

613C
          614C

a. The element is: __________________

b. The number 6 refers to the _________________________

c. The numbers 12, 13, and 14 refer to the ________________________

d. How many protons and neutrons are in the first isotope?  _________________

e. How many protons and neutrons are in the second isotope?  _________________

f. How many protons and neutrons are in the third isotope?  _________________

2. Complete the following chart:

	Isotope name 
	atomic #
	mass #
	# of protons
	# of neutrons
	# of electrons 

	 uranium-235
	 
	 
	 
	 
	 

	 uranium-238
	 
	 
	 
	 
	 

	 boron-10
	 
	 
	 
	 
	 

	 boron-11
	 
	 
	 
	 
	 


Please show your work to receive credit for the following problems.

3. Naturally occurring Europium (Eu) consists of two isotopes with a mass of 151 and 153.  Europium-151 has an abundance of 48.03% and Europium-153 has an abundance of 51.97%.  What is the atomic mass of europium? 

4. What is the average atomic mass of this sample of Carbon?

    
  12C                   12.0014 amu               87.3 %

     
  14C                   13.9960 amu              12.7 %

5. What is the average atomic mass of this sample of Iron?

         
Iron-55                          67.8 %

         
Iron-58                          32.2 %   

6. Helium has two naturally occurring isotopes, Helium-3 and Helium-4. The average abundance of Helium-3 is 27.2%, and the average abundance of Helium-4 is 72.8%.  What is the average atomic mass of Helium? 

7. What is the average atomic mass of this sample of these two isotopes of Iron?

        
Iron - 56        74.3%

        
Iron - 58        25.7 %   

8.  What is the average atomic mass of this sample of Calcium?

                 40Ca          81%

                 41Ca          14%

                 43Ca            5%

9. Calculate the average atomic mass of this Potassium sample. The three Potassium isotopes have atomic masses and percent compositions of 39 amu (64.8%), 40 amu (18.6%), and 41 amu (16.6%).

10. Complete the following chart:

	Element
	Symbol
	Atomic Number
	Number of electrons
	Number of Neutrons
	Mass number
	Isotope Notation
	Atomic Mass

	Helium


	
	
	2
	2
	
	
	

	
	Ti
	
	22
	
	50
	
	Ti - 50

	
	
	73
	73
	108
	
	
	

	Gallium


	
	
	31
	39
	
	
	

	
	
	
	
	
	
	13C
  6
	

	
	
	
	
	
	
	226
88Ra
	

	
	
	83
	83
	127
	
	
	


